Principle of Economics: Homework 5, Unit 21 - Unit 31

Multiple Choice Questions

Choose the most appropriate answer for each question.

1 NI A R B 0 OF 4B I — I R R - BRI\ B AR T —
T R AR N 0 S K i 3 SERE SR AE SR > R
ARBTG5 RO o NUIRRIZR S LIChT LAY 3 BEATERE - HiE
B EE » S 50 R S T B N 1 B B (5) BRSO I (u()) 2

(A) § =0.5, u(z) = 22

(B) § =0.7, u(x) =2z

(C) § =0.3, u(z) = 2% — 2z
(D) 6 =0.8, u(x) = —2% + 5z

Solution. Answer: D

AR o EVEEIEAVE S T o faE R DUS H):
u(3) > ou(b)

RENIER S L2 5 RF ERIMRALHE

(A)
u(3) = 3% < 0.5-5% = du(5)
(B)
w(3)=2-3<0.7-2-5=6u(b)
(©)
uw(3)=32-2-3<0.3-(52—-2-5) = du(b)
(D)

u(3)=—(3%)+5-3>0.8-—(52) +5-5=du(5)
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2. RRMAEEREHEERE 1952-2022 WEHE GDP > AIBHERK N 4o
GDP HERL > 55 R VR AT DA HA EE FH AR R e i 2

(A

(B) Nominal GDP per capita

(

(

)
)
C) GDP deflator
D)

Real interest rate

Purchasing Power Parity

Solution. Answer: C

__ Nominal GDP
GDP deflator = =255~ % 100

MR E FEEEN % H GDP (Nominal GDP) 1 GDP deflator » %
MELAT LG E N EH GDP(Real GDP) ©

3. BEBAMFERELE - 5olB 7 # I HIEREHES > & 100 #HHE
1700 7T © FFHEH 5% HEEE SSR ki (EE 100 7T) ~ 15% HRIER
SR FH (HfE 50 7T) ~ 30% FEREE R KA (HE 10 7T) ~ 50% FRRES
N Rh (fEfH 5 7o) - (HE EREEZREN T - FER A T aE2 T 5
R

(A) Risk-averse

(B)

(C) Risk-loving or Risk-neutral

(D)

Risk-loving

Risk-averse or Risk-neutral

Solution. Answer: A
o FTESGHMIVEAZEM :

WIZ(EE (EV) = 0.05 x 100 (SSR)
4+0.15 x 50 (SR)
+0.30 x 10 (R)
+0.50 x5 (N)
=5+75+3+25
=18 (r/#) .

o RO EE A

1700
A =—— =17 7T
w00

o HILA R > SR EE 18 TARRSHMPIERA 17 T HE B1H
IRPLEA » RS2 risk-averse ©
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4. ROV G MR 5B B ER 2
(A) BB R R o
(B) 4EM 12 BRA MBI - St o
(C) TE-E AR R R 3 K o
(D) — B RAEE RIFEEAR

Solution. Answer: A

HANFEWERES BB R 2N BT ERE  FEHEMA
GEFBHR o —HERTENCKEEBEAZHSHER 2 K
FEHELEHB R o

5. B—HBEIARAEHEE » GRS E G HET A T IR ET Sk 2

I. 51 GDP

II. 5781 GNP

II1. #E I GNP

IV. B NNP

(A) 1, III
(B) 1L, IV
(C) I, 11, III
(D) 1, IIL, IV

Solution. Answer: D

RIS HRER > TAMRDE -

« BN GDP BA BN —FEIITHEHE
o FEIHY GNP B NNP 2 A B\ fit 15— R 4R (1 72

6. IRFRIEIHBL - EHBLEESG > 2 T HATAE > BUERERD - g
BT HR > SRR EHPIRAR o IR LR ER AR B SE - R R
SERFE T IR R THIES > M HEILBROR o 35 S BREAT 2y > RAIfAI34 1ERE 2
(A) IRFHEMA TR SBERE > BR DEERR
(B) IRFHEMD THEIEMERFE - BN TYER -

(C) RFHMA T DWERFE > B MUHEARE) -

(D) IRFHMA THBEWMERE - BN [HBERETR) -

Solution. Answer: A

B TS R R 46 2 7 BUER AR - BT I — 75 AT HE & (R 2% SRR S I B S
HIAT 2T 3248 o FEE 1A B > PRER/S W] AT BE & R 2% S TR 1S AR 1Y
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H7RHEE ERE B0

r]ﬂh

Ryt > HeEEERT - EBEEK -
7. NHIRRA R IR ] B g Rt - {3 IE e 2
(A) FEEMBRIR 0 BHRER R ESTR > EHFRENGR—ELE
FFH R ERE L5 -
(B) TERREMRGFHIRHRE U2y, 2y) = u(zy) + 6u($2) 2§ BUNBETR D o

(C) RVEERIERZFBUINZERNNFHHRE - LBENERF -
(D) JEBpZEhrs > HEBRAK S —AE -

Solution. Answer: A

(B) & BUNMREARAR R B ESE R S H RO - HER O o
(C) NFRERIER B E B EFNRFNER
(D) JeE\g 2= 47 1Y R B i 7K 2 IE (L o

8. THIBMEEHEAERE Y = Ax F(K,H,N) BJBGE > i §Ha 2

(A) HEARERM - BISAEGCHELU - S E%-- ) - KK A R o

(B) M- B maEHREEME 5 RTrEE] > 2R K G 5 e -
(C) MTBRTEBIHA 2500 NEHAEEMS ) - MG EHEA N o
(D) & AITE 2024 0 10 A > RE H G180 10 & -

Solution. Answer: D

K% H=LFTE) xh(ANEAR) D §E#
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